SPF Club 230

Partavling HCP 2020-03-02

Partavling, 8 bord, 16 par.

SCRATCH

Antal brickor: 26. Medel: 182.0.

Plac Par Poéang % Namn MID Klubb
1 9 224.0 61.54 Mona Lundh - Zorro Zbigniew Karewicz 85946 67244 Staffanstorps BK - BK Sekvens, S-torp
2 5 221.0 60.71 Karl-Erik Gronvall - Anna-Lisa Gronvall 4635 25526 Staffanstorps BK
3 15 220.0 60.44 Gunvor Frid - Ulla-Britt Fransson 33411 37472 Staffanstorps BK
4 14 216.0 59.34 Birgit Larsson - Ingegerd Hjertsall 83628 25033 Staffanstorps BK
5 4 209.0 57.42 Leif Stening - Ingmar Olsson 35393 53576 Staffanstorps BK
6 11  199.0 54.67 Yvonne Wegbratt - Vibeke Nilsson 14732 28173 Staffanstorps BK
7 12 186.0 51.10 Bengt Blixt - Ulla Jonsson 46011 37470 Staffanstorps BK
8 6 184.0 50.55 Kjell Kristiansson - Greta Kristiansson 410 7408  Staffanstorps BK
9 3 180.0 49.45 Leila Levhag - Ritva Myrhagen 13927 24760 Staffanstorps BK - BK Sekvens, S-torp
9 13 180.0 49.45 Gun Danielsson - Elvy Andersson 80353 36910 Staffanstorps BK
9 16 180.0 49.45 Birgitta Tellstrom - Brita Willars 86860 46271 SPF Club 230 - Staffanstorps BK
12 1 168.0 46.15 Christer Jarbo - Sune Wall 36919 36918 SPF Club 230
13 8 140.0 38.46 Paul Persson - Inga-Lill Léfquist 36913 62877 SPF Club 230 - BK Sekvens, S-torp
14 10 139.0 38.19 Johnny Nilsson - Goran Boke 57017 54405 BK Sekvens, S-torp - Staffanstorps BK
15 7 136.0 37.36 Sonja Jonasson - Klas Henriksson 43642 47129 SPF Club 230
16 2 130.0 35.71 Mona Ahlander - Ann-Marie Bolling 50176 25038 Staffanstorps BK
1 4 EK5 2 46 3 4 KD87
Nord v Kn1042 Ost v KD962 Syd vKn98
Ingen +98 NS + Kn75 ov + KDKn74
#KKn52 #D1096 *K
4Kn83 D106 4 EKn53 4 D10872 4E105 4Kn943
vD8763 vE vKn75 v108 vE7 v D542
¢+ E64 + D107532 ¢E983 ¢ D1062 ¢ 10653 ¢ 82
296 «D73 &72 #53 D873 &E52
49742 « K94 462
v K95 vE43 vK1063
¢ KKn ¢+ K4 ¢+ E9
+E1084 #EKKn84 #Kn10964
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 2 INS+2 ¥3 150 140 00| 9 8 3NS+2 45 660 140 00|14 2 3NN= «A 400 13.0 1.0
9 8 2NS= ¢4 120 120 20| 4 2 4vyN+1 &7 650 100 40|15 13 3NN= 3 400 130 10
13 10 2v N= ¢7 110 100 40| 6 11 4v S+1 «3 650 100 40| 5 3 2NN+2 &2 180 100 4.0
14 1 3¢ 0-1 SA 50 80 6.0|13 10 4vS+1 &7 650 100 40| 8 4 2NS= +3 120 8.0 6.0
16 5 Pass 60 80| 7 3 3NS+1 &7 630 60 80|16 6 1¢ N+2 43 110 6.0 8.0
6 11 34 S-1 ¢ A -50 40 100|124 1 INS+4 43 210 40 100( 1 11 INS= +6 90 3.0 11.0
15 12 3v N-2 46 -100 20 120|16 5 2v N+2 47 170 20 120 7 12 2¢ N= v2 90 3.0 11.0
7 3 3vyN-3 +5 -150 00 14015 12 3&#N= ¢2 110 00 140|110 9 2vS-1 3 -50 0.0 14.0
4 493 5 4943 6 4« ED654
Vast vD8 Nord v DKn7652 Ost v 9853
Alla ¢ 876432 NS + K ov ¢+ E9
2973 #EKn7 *E5
4 KKn875 #E10 4Kn8762 «KD10 #1087 493
vE9 v Kn105432 v K103 vE4 vEKKn42 v76
¢ KDKn10 ¢ 95 ¢Kn962 ¢ 7543 +52 ¢ KKn64
#EKn #654 «D #9542 *K84 #D10972
« D642 4 E5 & KKn2
vK76 v 98 vD10
¢+E ¢+ ED108 + D10873
#KD1082 #K10863 #Kn63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 3 4v0-2 ¢A 200 140 0.0|11 10 3NN+1 &4 630 140 00| 2 12 24 N+2 ¢6 170 120 20
16 6 2NV-1 «9 100 120 20| 6 4 4vy N= 4Q 620 11.0 3.0|11 10 24 N+2 v6 170 120 2.0
7 12 2¢ V= 9 -90 90 50|15 1 4¢vN= 4K 620 11.0 30|15 1 34N+1 #9 170 120 20
14 2 2¢ V= *7 -90 90 50| 8 13 2¢v N+2 7 170 70 70|14 3 24 N+1 v7 140 8.0 6.0
15 13 2¢ V+1  v8 -110 6.0 80 9 5 3vN+l «Q 170 70 70| 6 4 24 N= v7 110 3.0 11.0
1 11 24 V+1 46 -140 40 100|124 3 2NN+1 &6 150 40 100| 8 13 14 N+1 +7 110 3.0 11.0
8 4 24V+2 +8 -170 20 120|16 7 2y N+1 &K 140 20 120 9 5 24 N= v6 110 3.0 11.0
10 9 4v 0= *A -620 0.0 140| 2 12 3¢ S-3 *Q -300 0.0 14016 7 24 S= v7 110 3.0 11.0
7 4843 8 ~ K4 9 4« DKn9
Syd v EK9 Vast v Kn1083 Nord vED
Alla ¢ Kn863 Ingen ¢ E54 ov + EK109
#E108 #E952 #Kn932
4E107 4K96 4Kn32 410986 4 K85 4 E1076432
v763 v Kn42 vEK74 965 vKn984 ¢102
+ K1094 ¢ ED75 ¢ K10 + Kn98732 ¢ D8743 ¢ Kn2
*K75 #DKn3 #DKn43 &8 8 #105
« DKn52 « ED75 @-
vD1085 v D92 vK7653
2 + D6 465
#9642 #K1076 #EKD764
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 8 3¢ O-2 v5 200 140 00|14 4 2NN+2 ¢2 180 140 00|16 9 44DO-3 ¥3 800 140 0.0
3 13 1vS+1 4A 110 11.0 30(10 6 4¢ O-3 6 150 120 20| 4 1 4vS+2 4K 480 120 20
9 1 2vS= 4A 110 110 30|16 8 2#N+2 v6 130 100 40|11 7 3NN+2 42 460 9.0 5.0
14 4 3NO-1 ¢2 100 80 60| 7 5 4¢0-2 A 100 70 7.0(14 5 3NN+2 46 460 9.0 5.0
2 15 INV+1 vA -120 40 10012 11 1v V-2 ¢4 100 70 70| 8 6 54N+2 &A 440 50 9.0
10 6 INV+1l +6 -120 40 100| 3 13 44 S-1 vA -50 30 11010 2 54S+2 ¢4 440 50 9.0
12 11 INV+1 &8 -120 40 100 9 1 INN-1 +8 -50 3.0 11.0|13 12 44 O-3 A 300 20 12.0
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7 5 2NO+1 2 -150 0.0 140 2 15 4vy N-3 2 -150 00 140| 3 15 6NN-1 LYN -50 0.0 14.0
10 « K985 11 « KKn108 12 a4
Ost v KD Syd v Kn82 Vast v K42
Alla +D1074 Ingen + D642 NS + K97652
*976 *E6 #9084
4 Kn42 4« ED6G3 47532 «ED9% » K96 # 832
vKnl0874 v53 vE95 vKD6 vE1083 vD65
+ 863 ¢ EK9 ¢1075 ¢93 +43 ¢ DKn108
*K3 10854 #742 #KD105 #ED62 #1075
« 107 46 « EDKNn1075
v E962 v 10743 v Kn97
¢ Kn52 ¢ EKKn8 ¢E
#EDKn2 #Kn983 #KKn3
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
3 15 1a N= v5 80 140 00| 5 2 2¢ N+2 oA 130 140 00| 4 15 24S+2 vA 170 130 10
10 2 14 0= SA -80 120 20| 9 7 2¢S+1 42 110 120 20 9 7 34S+1 vA 170 130 1.0
8 6 2vV= *9 -110 90 50|12 8 INO-1 46 50 80 6.0| 1 13 24S+1 #A 140 70 7.0
14 5 2y V= LX) -110 90 50|14 6 34V-1 *Q 50 80 60| 5 2 34S-= vA 140 70 7.0
16 9 INO+2 oT -150 6.0 80|16 10 INO-1 *A 50 80 60|11 3 34S-= ¢4 140 70 7.0
4 1 2vS-2 *K -200 30 11011 3 2¢vS-1 a7 -50 4.0 10.0(16 10 24 S+1 +4 140 70 7.0
13 12 2v S-2 a2 -200 30 110 1 13 14 O= ¢ A -80 20 12012 8 24 S= A 110 1.0 13.0
11 7 24 N-3 v5 -300 0.0 140( 4 15 INO= *K -90 00 140|114 6 24 S-= ¢4 110 1.0 13.0
13 « EK72 14 « EKn8 15 454
Nord v5 Ost v 82 Syd v 7542
Alla ¢ EKDKn3 Ingen + E1084 NS 41093
#1084 #EKKn6 #D1062
4Kn93 4864 4D107 4K953 476 « EKD98
v 108643 vK72 vE973 vDKnl0 vKDKn103 vEG6
¢ 8752 +10 ¢DKn6 ¢973 ¢ K7542 ¢ EKn86
«D #KKn7652 D87 #1043 *E £94
« D105 4642 & Kn1032
v EDKn9 v K654 v 98
¢ 964 ¢ K52 ¢D
#E93 #952 #KKn8753
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 8 3NS+4 v6 720 130 10| 2 1 3NS= v3 400 140 00| 1 10 5¢ V+1 #6 -420 140 0.0
14 7 3NN+4 &2 720 130 10| 5 15 INN+1 vQ 120 120 20|16 12 44 O+1 &3 -450 120 2.0
2 1 3NS+3 3 690 90 50| 6 3 INN= vQ 90 90 50|11 9 440+2 v¥9 -480 100 4.0
12 4 3NN+3 48 690 90 50|14 7 INN= 3 90 9.0 50| 3 2 4vyV+3 &2 -510 70 7.0
5 15 44 N+2 T 680 6.0 80|16 11 14 0-1 *2 50 6.0 80| 7 4 4vyV+3 45 -510 70 7.0
13 9 3NN+2 &5 660 40 100(12 4 2#N-1 vJ -50 40 100(14 8 3NO+4 &3 -520 4.0 10.0
16 11 44 N+1 T 650 20 120|113 9 1y V= *A -80 20 12.0|13 5 64 V+1 &5 -940 20 120
6 3 24N+3 T 200 00 14010 8 INN-2 vQ -100 0.0 140| 6 15 64 O= 3 -980 0.0 14.0
16 «D4 17 95 18 & K1043
Vast v74 Nord v Kn6 Ost v K9843
oV +85 Ingen + E986 NS ¢+ E10
#KKn109762 #K10842 #63
«E10732 4Kn9 «K107 #ED632 «D7 « EKN986
v 1053 v Kn982 vD105 vEK72 v5 vE76
¢ EKn72 ¢ K64 ¢ KD2 +54 ¢+ D86532 + K9
*4 #ED53 #DKn53 #96 #KDKn5 #1094
» K865 « Kng84 52
v EKD6 v 9843 v DKn102
¢ D1093 ¢ Kn1073 ¢ Kn74
8 *E7 #E872
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 10 3#N= v8 110 130 10(14 9 44 0-2 A 100 140 00| 2 11 44 0-2 vQ 100 130 1.0
14 8 34N= a) 110 130 10| 1 6 440-1 *A 50 110 30|14 9 3NO-2 A 100 130 1.0
13 5 2NS-1 *2 -50 9.0 5013 16 44 O-1 *A 50 11.0 30( 1 6 2NO-1 v2 50 9.0 5.0
16 12 2v S-1 *4 -50 9.0 5012 10 2NV +2 &2 -180 80 60| 4 3 540-1 vK 50 9.0 5.0
3 2 4&N-2 *4 -100 40 100 4 3 440-= *T -420 50 90|12 10 2¢ V+2 ¢3 -130 6.0 8.0
6 15 2NS-2 & A -100 40 100 8 5 44 0= *7 -420 50 90| 8 5 240+1 +vQ -140 3.0 11.0
11 9 44DN-1 o) -100 40 100( 2 11 3NV+1l &4 -430 20 12013 16 14 O+2 v2 -140 30 110
7 4 3vS-4 *4 -200 0.0 140( 7 15 3NO+3 ¢3 -490 00 140| 7 15 3NO= vT -400 0.0 14.0
19 642 20 +E 21 4 K42
Syd v KKn10543 Vast v E65432 Nord v EKKn
oV ¢- Alla ¢+ ED63 NS ¢ 109
#DKn32 #KKn #Kn8653
«ED3  4KKnl107 41098753 & KKn «ED10963 485
vED87 v6 v 108 v DKn9 v2 v 98653
¢+ D874 ¢ KKn532 ¢ Kn102 + K954 ¢ 832 ¢ KKn
*K7 #1065 «108 »D973 *K72 #ED104
# 985 « D642 & Kn7
v 92 vK7 vD1074
+ E1096 ¢ 87 ¢+ ED7654
#E984 #E6542 &9
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 10 5¢ V-2 v5 200 140 00| 1 16 4v N+1 ¢4 650 130 10 6 5 2vS+1 &7 140 140 0.0
3 12 340-1 v9 100 100 40(13 11 4v N+1 4K 650 130 10| 3 8 2¢ S+2 4Q 130 120 20
9 6 44 0-1 v9 100 100 40| 5 4 4v N= &3 620 9.0 50| 4 13 4vN-1 *A -100 9.0 5.0
13 11 5¢ O-1 A 100 100 40|14 10 4v N= &7 620 90 50| 9 15 2NN-1 *4 -100 9.0 5.0
5 4 2vyDN-1 7 -100 6.0 80| 2 7 24N+2 ¢4 170 60 80| 2 16 24 V= vA -110 6.0 8.0
8 15 34 O= *8 -140 40 100( 8 15 3v N= &7 140 40 100| 1 12 24 V+1 9 -140 2.0 12.0
1 16 24 V+2 vT -170 20 120| 9 6 4vyN-1 vQ -100 20 120]|10 7 24 V+1 9 -140 20 120
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2 7 3NV= &2 -600 0.0 140| 3 12 6vy N-2 a] -200 0.0 140|144 11 3a V= +9 -140 20 12.0
22 « EK10962 23 a7 24 «D5
Ost vE10 Syd vD10643 Vast v KDKn4
oV *4 Alla + K93 Ingen + D63
&ED64 10873 #»ED43
aKn543 - & Kn32 410965 4 Kn873 & E1042
vK986 vDKn753 v Kn5 v972 v E93 v 10765
+ K98 + EDKNn76 + D5 + Kn1082 ¢+ 954 + EKn102
&Kn7 #K53 #DKn9652 #E4 #1062 #8
« D87 « EKD84 « K96
v42 v EK8 v 82
410532 ¢ E764 + K87
#10982 &K &#KKn975
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 13 44 N= ¢A 420 130 10| 5 1 4vN+1 &4 650 13.0 10| 3 16 3NN+1 v5 430 120 2.0
9 15 44 N= vQ 420 13.0 10|11 8 4vy N+1 &4 650 13.0 10| 5 1 3NN+1 ¢T 430 120 2.0
1 12 44 N-1 v3 -50 100 40| 3 16 3NS+1 a2 630 90 50|11 8 3NN+1 vT 430 120 2.0
6 5 54DN-1 #J -100 80 60|14 12 3NS+1 a2 630 90 50| 4 9 3NN= T 400 80 6.0
10 7 3vV+l & A -170 60 80| 4 9 4v N= &A 620 6.0 80| 2 13 34S+1 vA 130 50 9.0
2 16 4v O+1 4Q -650 30 11.0| 7 6 3NS= &5 600 3.0 11.0(15 10 3# N+1 aA 130 50 9.0
14 11 5v O= 4Q -650 3.0 11.0|15 10 3NS= L ¥ 600 3.0 11.0|14 12 3¢ O-2 &K 100 20 120
3 8 4vDO= &T -790 0.0 140 2 13 2NS+1 &2 150 00 140| 7 6 3NS-1 a3 -50 0.0 140
25 & KDKn87 26 & Kn3
Nord vK Ost vKn976
oV + ED6532 Alla ¢ K852
&2 D107
43 410542 4 D95 4 K10762
v EDKn1043 ¢97 vEK1053 v-
¢ 107 +K ¢ Kn76 ¢ E9%4
#DKn95 #EK10863 *52 #KKn943
« E96 «E84
v 8652 v D842
+ Kn984 + D103
&74 »E86
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
15 11 54DN= &A 650 140 00| 4 16 24 0-2 +3 200 13.0 1.0
8 7 5¢ N+1 &A 420 120 20|15 11 44 O-2 v2 200 13.0 1.0
14 13 5¢ N= &A 400 100 40| 6 2 2v N-1 A -100 100 4.0
4 16 34 N+2 ¢+K 200 70 7.0 8 7 2NV+1 v9 -150 80 6.0
6 2 34 N+2 +K 200 70 70|14 13 2v O+2 &A -170 6.0 8.0
3 1 4¢ N+2 v7 170 40 100| 5 10 2NO +2 &A -180 40 10.0
5 10 440 +2 &A -170 20 120 3 1 2vS-3 &2 -300 20 120
12 9 540+= A -600 00 14012 9 44 O+1 &A -650 0.0 140
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